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2. What is statistics ? How it is helpfal for| makine
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business decisions ?
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3. (a) Represent &%Q

histogram.

UNIT -1

=g - |

L

data

3
e & e e 3 3 o
‘Marks 0-10 10-20 20-30 3040 L0-5¢
A%

?No of Students | 5

B A gy

— - 1

¥ 8]

_.
7

==

i

=¥ r..-"‘-:f

69011-

-(P-7)(Q-9)(22)

(3)

- The median and mode of

Faphan the requisdes of a good questionn, iy

U aresl aeATEel & ) At @ e a5,

UNIT - 1I
g - Il

What do You understand by Dispersion ? Explain the

different methods of measuring Dispersion. 16
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the following wage

distribution of 230 workers are known to be Rs. 33.5
and i
Rs. 34 respectively. Three frequency values form
the ;
table however are missing. Find the missing
values :
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Find N\ il the ratio between Laspeyre's and Paasche's

index numberis L: P :: 28 :27.
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7. (@) Define Skewmness. How does it differ from

dispersion ? 8
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(b) Explain different measures of skewness. 8
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8. Explain with examples the addition and multiplication
theorems of probability. 16
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g, \ purson is known to hit the target in 7 out of 4 <hat,
whereas another person is known to hit the target in 2
sut of 3 shots. Find the probability of the target being
hit at all when they both try. 16
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